










Twelve persons A, B, C, D, E, F, G, H, I, J, K, L lives in 
different flats of different floors. There are four floors 
in a building as ground floor is numbered as 1 and 
above it is 2 and so on upto top floor numbered as 4. 
Each of the floor consist of 3 flats as flat-1, flat-2 and 
flat-3. Flat-1 of floor-2 is immediately above flat-1 of 
floor-1 and immediately below flat-1 of floor-3 and 
so on. In the same way flat-2 of floor-2 is 
immediately above flat-2 of floor-1 and immediately 
below flat-2 of floor-3 and so on. Flat-2 is in east of 
flat-1 and flat-3 is in east of flat-2.
Two persons live between J and K. J lives above K but 
both are living in the same flat number. A is to the 
east of I but none of them lives on same flat and 
same floor number on which J and K live. No one 
lives in the west of J. Only one person lives between 
C and G who lives below C. L lives to the east of G. F 
lives immediately above B and in the same flat 
number. D is to the west of H. L lives below E and H 
does not live on the top floor. E does not live in flat-2. 
C and G lives in the same flat number.

बारह व्यक्ति अर्ाात् : A, B, C, D, E, F, G, H, I, J, K, L अलग

अलग तल ों के अलग अलग फै्लट पर रहते हैं। एक इमारत

में चार तल हैं, सबसे निचले तल की सोंख्या 1, उससे ऊपर

की 2 और आगे इसी तरह से शीर्ा तल की सोंख्या 4 है।

प्रते्यक तल पर 3 फै्लट हैं अर्ाात् : फै्लट-1, फै्लट-2 और

फै्लट-3। तल-2 का फै्लट-1, तल-1 के फै्लट-2 के ठीक ऊपर

है और तल-3 के फै्लट-1 के ठीक िीचे है और आगे इसी

तरह से। समाि तरीके से तल-2 का फै्लट-2, तल-1 के
फै्लट-2 के ठीक ऊपर है और तल-3 के फै्लट-2 के ठीक

िीचे है और आगे इसी तरह से। फै्लट-2, फै्लट-1 के पूर्ा में है

और फै्लट-3, फै्लट-2 के पूर्ा में है।

J और K के बीच में द व्यक्ति रहते हैं। J, K के ऊपर रहता है

लेनकि द ि ोंसमाि फै्लट सोंख्या में रहते हैं। A, I के पूर्ा में है

लेनकि उिमें से क ई भी उसके समाि फै्लट और समाि

तल सोंख्या पर िही ोंरहता है निस पर J और K रहते हैं। क ई

भी J के पनिम में िही ोंरहता है। C और G, ि C के िीचे

रहता है, के बीच केर्ल एक व्यक्ति रहता है। L, G के पूर्ा में

रहता है। F, B के ठीक ऊपर रहता है और समाि फै्लट

सोंख्या में रहता है। D, H के पनिम में है। L, E के िीचे रहता है

और H शीर्ा तल पर िही ोंरहता है। E, फै्लट-2 में िही ोंरहता

है। C और G समाि फै्लट सोंख्या में रहते हैं।



Twelve persons A, B, C, D, E, F, G, H, I, J, K, L lives in different flats of 
different floors. There are four floors in a building as ground floor is 
numbered as 1 and above it is 2 and so on upto top floor numbered 
as 4. Each of the floor consist of 3 flats as flat-1, flat-2 and flat-3. Flat-
1 of floor-2 is immediately above flat-1 of floor-1 and immediately 
below flat-1 of floor-3 and so on. In the same way flat-2 of floor-2 is 
immediately above flat-2 of floor-1 and immediately below flat-2 of 
floor-3 and so on. Flat-2 is in east of flat-1 and flat-3 is in east of flat-
2.

Two persons live between J and K. J lives 
above K but both are living in the same flat 
number. A is to the east of I but none of them 
lives on same flat and same floor number on 
which J and K live. No one lives in the west of 
J. Only one person lives between C and G who 
lives below C. L lives to the east of G. F lives 
immediately above B and in the same flat 
number. D is to the west of H. L lives below E 
and H does not live on the top floor. E does 
not live in flat-2. C and G lives in the same flat 
number.



Q.1-2. Read the following information carefully and answer the questions which follow :

A, B, C, D. E and F live on different floors in the same building having six floors numbered

one to six (the ground floor is numbered 1, the floor above it. number 2 and so on and the

topmost floor is numbered 6).

A does not live on an even numbered floor. There are two floors between the floors on which

D and F live. F lives on a floor above D’s floor. D does not live on floor number 2. B does not

live on an odd numbered floor. C does not live on any of the floors below F’s floor. E does

not live on a floor immediately above or immediately below the floor on which B lives and

lives odd number of floor.

A, B, C, D, E और F एक ही इमारत में अलग-अलग तल पर रहते हैं निसमें छह मोंनिलें 1 से 6 ह ती हैं (भूनमतल क 

सोंख्या 1 मािा गया है, इसके ऊपर की मोंनिल क सोंख्या 2 और इसी तरह सबसे ऊपर की मोंनिल मािा िाता है

सोंख्या 6)।
A सम सोंख्या र्ाली मोंनिल पर िही ों रहता है। निस तल पर D और F रहते है उिके बीच में द मोंनिले हैं । F, D के

मोंनिल के ऊपर र्ाली मोंनिल पर रहता है। D मोंनिल 2 पर िही ों रहता है । B नर्र्म सोंख्या र्ाली मोंनिल पर िही ों

रहता है। C, F के तल के िीचे नकसी भी मोंनिल पर िही ों रहता है । E, B तल के तुरोंत ऊपर या तुरोंत िीचे की मोंनिल

पर िही ोंरहता है और र्ह नर्र्म सोंख्या र्ाली मोंनिल पर रहता है ।


